2023/02/24 00:40 1/11 00

goon

HpN

C. Cover the Paths
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const int MAXN=1e5+5;
#define lowbit(x) ((x)&(-x))
namespace Tree

int c/MAXN];
void add(int pos
pos<MAXN
Clpos | ++;

pos+=lowbit (pos);

int query(int pos
int ans=0;
pos
ans+=c|/pos|;
pos-=lowbit (pos);

ans;
int query(int L,int R

query(R)-query(L-1);

struct Edge
int to,next;
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edge [ MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|=Edge{v,head|u]};
head|u!=edge cnt;

int d[MAXN|,sz[MAXN|,f[MAXN|,dfn/MAXN|,dfs t;
int h son/MAXN|,mson[MAXN|,p[MAXN];
void dfs 1(int u,int fa,int depth
szlul=1,flul=fa,dul=depth,mson|ul=0;
int i=head(u];i;i=edge[i].next
int v=edge([1i].to;
==fa ;
dfs 1(v,u,depth+1);
szlul+=sz|v];
sz/v/>msonlu
h sonlul=v;
mson|ul=sz|v];

void dfs 2(int u,int top
dfnful=++dfs_t,plul=top;
mson|u
dfs 2(h soniul,top);
int i=head|ul;i;i=edge|i].next
int v=edgel[i].to;
==flul||v==h_son|u

dfs 2(v,v);

int query(int u,int v
int ans=0;
plul!=plv
diplull<dlplv
swap(u,v);
ans+=Tree: :query(dfniplull,dfnlul);
u=f[plull;

diul>d|v
swap(u,v);
ans+=Tree::query(dfniul,dfn(v]);
ans;

int lca(int u,int v
plul!=plv
diplull<dlpiv!])swap(u,v);
u=flplull;
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diul<d/v]i?u:v;

struct Node
int u,v,p;
bool operator < (const Node b)const
dipl>d[b.p];

node MAXN | ;
int main
int n=read int();
_for(i,1,n
int u=read _int(),v=read int();
Insert(u,v);
Insert(v,u);

dfs 1(1,0,0);

dfs 2(1,1);

int m=read_int();

_for(i,0,m
int u=read int(),v=read int(),p=lcalu,v);
node|i|=Node{u,v,p};

sort(node,node+m) ;

vector<int> ans;

_for(i,0,m
query(node(i|.u,nodeli].v)==
ans.push back(node[i].p);
Tree::add(dfninodelil.pl);

enter(ans.size C
int u:ans
space(u);

’

G. Berland Post
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000000 $xwWex u+T-b i$Q0 000 $T$ OO0 O0O00OOOO

000000 $s$0 0000000000000 $x.i$00 0 $(s,i\infty),(i,s)\infty)$00 O $-\infty\le
x_i\le \infty$[]

O0000 $x.is00 0 $(s,i,v),(i,s,-v)$00 O $vile x_iNle v$0O0 O O O O $O0(nm\log V)$[

const int MAXN=1e3+5,MAXM=4e3+5,SPV=2e5;
const double inf=1el5,infv=1e7,eps=1e-7,eps2=1e-9;
int read int

int t=0;bool sign=false;char c=getchar();

c==""||c=="'\r'||c=="\n")c=getchar();
c=="'7" SPV;
c=='-"')sign=true, c=getchar();
isdigit(c
t=t*10+c-'0';
c=getchar();
sign?-t:t;

struct Edge
int to,next;
double w;

edge MAXM<<1];

int head MAXN]|,edge cnt;

void Insert(int u,int v,double w
++edge_cnt;
edge|edge cnt].to=v;
edge/edge cnt|.w=w;
edge|edge cnt].next=head|u!;
head|u!=edge cnt;

namespace SPFA
double dis[MAXN];
int len[MAXN];
bool inque!MAXN];
bool solve(int src,int n
queue<int>q;
_rep(i,1,n
inque/i =false;
len[i]=0;
dis[i|=inf;

dis|src ;lenfsrcl=1;
g.push(src);
inquelsrc|=true;
Iq.empty
int u=q.front();q.pop();
inquelu/=false;
int i=head|u];1i;i=edge[i].next
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int v=edgel|i].to;
dis|v]|>dis|u/+edge|i]|.w+eps2
dis|/v/=dis/ul+edge|i] .w;
len|[v|=lenful+1;
lenlvi>n
false;
linquelv
g.push(v);
inquelv | =true;

true;

struct Edge2
int u,v,w;
vector<Edge2> edges;
int alMAXN];
bool check(int n,double T
int s=++n;
edge cnt=0;
_rep(i,1,n
head[i]=0;
_for(i,1,n
alil==SPV
Insert(s,i,infv);
Insert(i,s,infv);

Insert(s,i,alil);
Insert(i,s,-alil);

Edge2 e:edges
Insert(e.v,e.u,T-e.w);
SPFA: :solvel(s,n);

int main
int n,m;
cin>>n>>m
edges.clear();
_rep(i,1,n
alil=read int();
m--
int u=read int(),v=read int(),w=read int();
edges.push back(Edge2{u,v,w});

double lef=0,rig=infv;

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

update: 2020-2021:teams:legal_string:0 0 0 0
2021/08/04 0000 :contest5

10:52

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:%E7%BB%84%E9%98%9F%E8%AE%AD%E7%BB%83%E6%AF%94%E8%B5%9B%E8%AE%B0%E5%BD%95:contest5

rig-lef>eps

double mid=(lef+rig)/2;
check(n,mid

rig=mid;

lef=mid;

printf("%.61f\n",lef);
check(n, lef);

_rep(i,1,n
printf("%s.61lf ",SPFA::dis[i]);
pu.ts mnn ;

J. Subsequence Sum Queries
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const int MAXN=2e5+5,MAXM=20,mod=1e9+7;
int ans|[MAXN|,a[MAXN],m;
struct query

int lef,rig,id;

int s/MAXN|[MAXM]|, temp MAXM<<1];
void solve(int lef,int rig,vector<query> b
int mid=lef+rig>>1;

lef==rig
_for(i,0,b.size
ans|[bl[i].id]=1+(a[mid]|==0);

.
I
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mem(s|[mid],0);
s[mid ++
simid|almid] |++;
int i=mid-1;i>=lef;i--
_for(j,0,m
sli][(alil+j)%sm/=(s[i+ alil+j)%mi+s[i+1]1[j])%mod;

mem(s[mid+1],0);
s mid+ ++;
s mid+ almid+ ++;
int i=mid+2;i<=rig;i++
_for(j,0,m
slil[(alil+j)%m/=(s[1i- alil+j)%mi+s[i- j1)%mod;

vector<query=>bl,b2;
_for(i,0,b.size
bli].rig<=mid
bl.push back(b[i]);
blil.lef>mid
b2.push back(b[i]);

mem(temp,0);

_for(j,0,m) for(k,0,m
temp|j+k|/=(temp|j+k|+1LL*s[b[i|.lef|[jl*s[bli].rig][k])%mod;
ans/bli].id|=(temp[0]+temp[m] ) %mod;

solve(lef,mid,bl);
solve(mid+1,rig,b2);

int main

int n=read int();

m=read int();

_rep(i,l,n)alil=read LL()%m;

int g=read_int();

vector<query> b;

_for(i,0,q
int l=read int(),r=read int();
b.push back(query{l,r,i});

solve(l,n,b);
_for(i,0,q
enter(ans|i]);

’
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const int MAXN=2e5+5,MAXM=2e5+5,MAXV=22:
namespace Tree
struct Edge
int to,id, next;
edge [ MAXN+MAXM | ;
int headl|MAXN|,head2 MAXN|,edge cnt;
int deg[MAXN|,f[MAXN|,dep ! MAXN|,anc MAXN]| MAXV],1g2/MAXN];
int deg@[MAXN];
void Insertl(int u,int v,int id
edge|++edge cnt|=Edge{v,id,headl/u] };
headl|u|=edge cnt;
deg|v|++;
degO v ++;

void Insert2(int u,int v
edge|++edge cnt|=Edge{v,0,head2/ul };
head2|u|=edge cnt;

int LCA(int u,int v
deplul<deplv
swap(u,v);
deplul/>dep|v])u=anciul[1lg2[deplul-deplv ;
u==v
u;
int i=MAXV-1;i>=0;1i--
anclul[i]!=anc|v]i
u=anc/ul[i],v=anciv![i];

anciu :

int build(int n

https://wiki.cvbbacm.com/ Printed on 2023/02/24 00:40



2023/02/24 00:40 9/11

oo

192[1]=0;
_for(i,2,MAXN)1lg2/il=1g2[i>>1]+1;
int rt=n+l;
queue<int> q;
_rep(i,1l,n

degl/il==

flil=rt;
g.push(i);

Iq.empty
int u=q.front();q.pop();
deplul=dep|[flul|+1;
Insert2(flul,u);

anclu =flul;
int i=1;i<MAXV;i++
anclul[il=anclanclu][1i- i-11;

int i=headl(u];i;i=edge[i].next
int v=edgel[i].to;

flvi==
flvl=u;

flv]|=LCA(u,flv]);
degiv!--;

deglv ==
g.push(v);

rt;

int sz[MAXN!,ans [MAXM];
void dfs(int u
szlul=1;
int i=head2|u];i;i=edge[i].next
int v=edge/i!.to;
dfs(v);
szlul+=sz/v]l;

void solve(int n,int m
int rt=build(n);

dfs(rt);
_replu,l,n
int i=headlu;i;i=edge!i].next
int v=edgel[i].to;
deg0O v ==
ans|edge/il.id/=sz|v];
_for(i,0,m

enter(ans|/i]);
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struct Edge
int to,w,id,next;

edge [ MAXM<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v,int w,int id
edge|++edge cnt|=Edge{v,w,id,head/u]};
head|u|=edge cnt;

LL dis[MAXN];
bool vis|MAXN];

int main
int n=read int(),m=read int();
_for(i,0,m

int u=read _int(),v=read int(),w=read int();
Insert(u,v,w,i);
Insert(v,u,w,i);

priority queue<pair<LL,int> =>q;

mem(dis, ;
dis[1]=0;
q.push(make pair(-dis , ;
Iq.empty
int u=qg.top().second;
q.popt);
vis|u ;

vis|u|=true;
int i=head|u];i;i=edge[i].next
int v=edgeli].to;
dis|v/>dis|u|+edgeli].w
dis|[v]|=dis|ul+edge|i].w;
g.push(make pair(-dis|v],v));

_rep(u,1,n
int i=head/u!;i;i=edgeli].next
int v=edge([i].to;

dis|v/==dis|ul/+edgeli|.w
Tree::Insertl(u,v,edge(i].id);

Tree::solve(n,m);

.
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